H £ 0l & AF & S

20208 20ila LESIH 2BIME=

Al A

SN oI5l AR
mE: K|wols] 29 NN (LUBBH/LYUAH22)
el gelogia H (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
23R = 2,228,142 1,968,470 259,672
Ngols 29 X (L33 /JEL L 2) 1,758,668 1,501,515 257,153
gelosle 286,620 247,510 39,110
Zgs g7 &3t 200,020 189,120 40,900
201 fer= 3| 50,020 59,120 29,100
01 At 2|l 50,020 59,120 29,100
OL&dgs 22l 800,000& * 122 9,600
(OETSY\RE 500 *2,0000H 1,000
O=s& M=% 4002 *5,0000H 2,000
O30t M=% 2,000 *5000H 1,000
Oclzlg2l18(22)8 M
10,0002 *1,0007H 10,000
Os2s+2(UE) M
250,000 x45 1,000
O2zgs4an 82 1,200,000 62 7,200
OAE AN M 12,000,000 x12] 12,000
O2ded 7= HEW MH
100,000 *402] 4,000
OFAHS N =25 M=
6,000& *150& 900
OANZ - 24t BE AZES 0 7
110,000& «1& =121 2 1,320
308 AtXIEHMSOIE 150,000 100,000 50,000
13 SI[2SOHe & EAS A 150,000 100,000 50,000
O2E==2HI 2,000,000& 753! 150,000
A2IH Shiots 22 8 86,600 88,390 A1,790
201 er23| 83,510 85,510 22,000
01 At2tltl 65,510 65,510 0
039 )|t 249
193,600 *100A12+ 19,360
O3l = U8B S M 8,750
—&di= 35,000 x250H*22] 1,750
—2Al3 35,000 x250H*82 7,000
OAR e 2EME MR+
150,000 *4H 600
O2l& PC==cl 100, 0002 x24CH*20f% 480
O&ados Wa 23 1,600
—EAE05 WA S0 WA
60,000& *102] 600
—d44doslude 28 =3 S 7Y
100,000 %102 1,000
O3lel SJI=E= 2242 A AAl
2,200,000& * 102 22,000
O22EHI0IX S
1,060,000& « 12912 12,720




SN oI5l AR
mE: K|wols] 29 NN (LUBBH/LYUAH22)
&l Zelosly 8 (SH &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
03 At2ZH] 18,000 20,000 A2,000
Oddes|=2t ZF3 & MOILE JH=
18,000,000 & 14| 18,000
301 LB F 3,090 2,880 210
11 SHAIAHIXI A2 1,890 1,680 210
OFaxEslual FATH AALHS S
9,000 *14H*153] 1,890
14 J|Et2 43 1,200 1,200 0
O3 L SRS 2z2tel FEAX
AlHI 24 80,0003 x5 x33| 1,200
PSSl PSE=S] 1,472,048 1,254,005 218,043
X123 SA&25t 1,059,112 976,489 82,623
201 B2 AY| 63,210 57,470 5,740
01 At=R2teld| 63,210 57,470 5,740
el ole sy
730,000& x20H 23| 29,200
OXgels AXUE s
200,000& *10& 2,000
O=2=2209 MAARIAS &Y
100,000 & x5 *43| 2,000
OQF2Y WATA 7
20,000 x200 4,000
ORI2R=EZ 20,0003 *302*12& 7,200
OLAEFEX = 4,590
— XIS 5,000& x202+ 128 1,200
PN IANN 6,000 x202+ 123 1,440
P APNISIPS] 5,000& x202+ 128 1,200
—J|Et 150,000 *5& 750
OCIARI &S| EAx=H
100,000 & *6H *53| 3,000
Ozc|&AMAZRR 2 4,400
— &A= 100,000& x5 *43| 2,000
— &40l 120,000& x5 *43] 2,400
OO0l E=SL N2 3 3,960
— &&= 100,000 x4 B +53] 2,000
—&&04H| 98,0003 x4 F*53| 1,960
OHd3Z2 . 8428 AE2 NEA0AE 2,160
— &8 100,000 x4 «33| 1,200
—&A0| 80,0003 *4H *33| 960
OXLogddAARA HH2H HeHl 2
50,0003 145 700
202 0441 46,000 46,000
04 =M 46,000 46,000
OAZNMEAl &2 L SHWF =3
2,000,000& x2H *43] 16,000




2A:

OIGIANR=

M RLo3 2 XA (Lets3HE/APLAI2L)
elr B AF =N (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OJ|=X LS| A oA
3,000,000 x4H *13] 12,000
OBUETAIZL3] 2EHHS it ==
o 3,000, 00021 %52 15,000
Oz==RAZAS AXEIS HALS +
e 3,000,000 =1 3,000
205 2134 939,402 862,519 76,883
01 o & & =] 252,000 184,800 67,200
Ool=EsH| 252,000
—olHXIRAE AT
1,200,000& * 148« 12& 201,600
—BXssh] 300,000& x14Z 123 50,400
(02=PSE =y 331,977 327,879 4,098
(OF=F<E=; 1,976,050 *14H + 12& 331,977
03 &= LHOA LI 30,240 30,240 0
O2& MoIL, &= S EF=& ol
90,0002 *14H»22 x 123 30,240
04 2|2 =2/04| 49,350 49,350 0
O=ItSAldA, 2H=2I29, NiHZEA
7,350,000 * 14 7,350
OGFALS RAALDL S SR32AHAS
3,000,000& 14 x13] 42,000
05 o E2H=S Al 74,241 74,241 0
OEFEE-E-EET
400,240 x14B + 122 67,241
OSg®as 1,000,000 *7H 7,000
06 232G HRFAL| 67,560 67,560 0
O 2,100,000 x1Z+12& 25,200
ooz 1,000, 0002 1% 12 12,000
ONHILEES 660, 00021 +32* 122 23,760
OSEAAZ (LB, 82I)
660,000& 2F *53] 6,600
07 SlRANLY| (BB, IH 2 S) 8,400 8,400 0
SEEE LR
200,000& x14H +33| 8,400
08 SIS LY (QI2+IE) 20,720 15,400 5,320
ool slemsy)
740,000& x 14 23| 20,720
09 Q| MIfLH| 70,000 70,000 0
OSJAFNLH(FHAHAR, E23| S)
5,000,000& * 14X 70,000
10 A EE2ANRE 2 13,500 13,500 0
OHd= AlIZ223 qEE AN RES
13,500,000& %13 13,500
1M oAJ}A=SCAZRE S 7,470 7,378 o7
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A X2os 29 NA(LSSF /LY L EH2e)

e ol 9|’E$& (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
O3 AoIHzg 23
1,976,050 *7 G *4, 5%+ 12 7,470
12 SA=RAAREZ 13,944 13,771 173
O9® ReINY 223
1,976,050 3 * 14 x4 2%+ 12 13,944
301 LEBNZ 6,000 6,000
09 2ABI=H0bI 6,000 6,000
OXHHEAl & SHUFEAl 28IZ=F 0|
1,500,000& 4 H*13] 6,000
405 XHeHE S| 4,500 4,500
02 STM7HI 4,500 4,500
O2EH=2d M2EN +E
30,0002 150 4,500
LHARE=E & =2Y 400,936 270,516 130,420
101 @124l 47,986 47,172 814
M IIZHMZ22 NS Es 47,986 47,172 814
O2aal & MURE 2% BX JI2HH 2
27X 47,986
- 80,2402 »2Z 240 38,516
-5 80,2403 x2H 485 7,704
—E X 80,2403 x2H 113 1,766
201 B2 AY| 164,410 142,444 21,966
01 ArR22ltl 115,980 98,620 17,360
O9dEXIIz Kol
15,000& *202* 105 3,000
O2et ol4) 20,0002 332+ 103 6,600
O M= 60,000& %108 600
OZ& AF=L NMA ROl
30,0002 %205 600
O239% & SJRARY g4 S MEHI
4,000 40074 1,600
O&dzal & dAlsl, 2tgs S EFHIES
800,000&* 103! 8,000
O=01 0|2  2Hee 29 =28 +4
300,000& 123 3,600
OFA &3 238 7
6,000 *x10&+303] 1,800
OFAL 38 &l 2,500,000 *13] 2,500
O3J1&83I| 2
120,000 *24H 2,880
OFAF ¥ 29 12,000,000 & * 14! 12,000
OAlEE FIIotH &&A
5,500,000 23] 11,000
OHI| HNHTA =2
200,000& =123 2,400




2A:

3 XNLos 29 NA(LessF/dHL AN 22)
el ZJlE o F@=a (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAg HHEH =55
300,000 %122 3,600
OgsHHl |2+
2,000,000 *120H & 24,000
OFEA Ml 24 400,000& * 122} 4,800
OgEx= It 2
1,500,000 24! 3,000
O dds sH 89 600, 0002 <402 24,000
02 S3=gHl 48,430 43,824 4,606
O23J|, 472 A=
1,300 «BAI 2++ 1202 +8LH 9,964
o237, 8742 FA|
200,000 +6CH 1,200
Odte I |l 7,000
—dHED(HEE) MEA4T |AH
200,000 »30CH 6,000
—dHED(AMES) KX
200,000 +5CH 1,000
o=, 3os ANE=A
200,000 %53 1,000
OA== Al 5,540
—=SSH(EZ 104 01&)
2,500& +1,182m 2,955
—3o|S(E2 104 0l4)
2,500&+1,034m’ 2,585
OXt&= Al 17,000
—30H3E75(5E, ABNE, ROFLR)
7,000,000 1CH 7,000
—2822B3(58, URE, BR)
5,000,000 = 1CH 5,000
—TIF2B(SE5E, RS, BR)
5,000,000 *1CH 5,000
OXsi 2= 3,200
—300H3675(SE A E, R UF)
500,000 *1CH 500
—282H2343(5 8, 2R E,FR)
700,000 *1CH 700
—7IF2B(HESE . PR .B3R)
1,000,000 *1CH 1,000
—LEHA(SESE, ERE)
1,000,000 = 1CH 1,000
OXSxt 3323 & HAl 1,406
— XS XAl 850
-UEgss 300,000 2CH 600
-dEgse 150,000 1CH 150
== 100,000 1CH 100
—ANLaZ 106




2A:

OIGIANR=

3 XNLos 29 NA(LessF/dHL AN 22)
=@ golE A= (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-UEgss 23,0004 =2CH 46
s 30,0002 1CH 30
sesd 30,0002 *1CH 30
—SFNERE=S 450
Hese 250,000 *1CH 250
sesd 200,000 *1CH 200
ol &= 30,0002 *10JH*43] 1,200
OFA &= 180,000 %52 900
203 gF=4| 18,900 18,900
03 A=A =] 18,900 18,900
O2SIARR F2e2 =7
8,100,000 +14] 8,100
OoN2Y e =X
6,300,000 *14] 6,300
O2IQHAAL & MRS 2
4,500,000 * 14 4,500
401 Al HIZL S 0HYI 50,000 50,000
01 Al&H| 50,000 50,000
O2alMat AIEEHl & LRE=
20,000,000& » 14 20,000
Olgl2a HMAE |2
30,000,000 *14] 30,000
405 AtatE = 119,640 12,000 107,640
01 Tt =S F=SH 119,640 12,000 107,640
Oy 7 40,0002+ 14! 440
E=SIINE5] 3,500, 0002 4CH 14,000
OSEHA(15215) 100,000,000 *1CH 100,000
odal| 2 1,000, 0002 4LH 4,000
O&JIGIH 600,000 x2CH 1,200
e P IR 12,000 7,000 5,000
201 Ler23 | 12,000 7,000 5,000
03 A=l 12,000 7,000 5,000
OBH=E Az 28 2lal
12,000,000 *13] 12,000
HY 2SI ZHI(ASIAR=) (DIEHIIE) 469,474 466,955 2,519
el 2E | 244,066 237,179 6,887
eIgE3| 244,066 237,179 6,887
101 e124d| 244,066 237,179 6,887
01 2= 154,539 180,770 3,769
O2BIARZ AlRtIZ2+E 154,539
—get 11,6022 x25Z *38A| 2+ 123 132,263
—2E UM & 2HJ
11,6022 «2& *80Al 2+ 122 22,276
03 SR (RIH )22 E 4 89,527 86,409 3,118
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A HHERHHHI(2ASIAR=)(OIEHDIIE})
Chel: ol CERE)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
O Atz el 40,756
A== 2,258,950 x1H + 12& 27,108
—HEESIHI 2,258,950 *23| x75% 3,389
&2 2,258, 9503 *35%+ 1 H x2E 1,582
—IIESL(ZMAA)
30,0002 %1%+ 122 360
— AR RRAY
13,9383 x 150%+ 15A| 2t 1H + 12& 3,764
— R EaF Y
111,504 1H x 152 1,673
—ZHZ Al 140,000& 1E x 122 1,680
— S8 XH| 100,000 x1H 123 1,200
OHIAR& 48,771
—J|lE2= 2,683,450 x 15+ 12& 32,202
—HEFOtHI 2,683,450 x23| x75% 4,026
&Y 2,683, 4503 *50%+ 1 H x23] 2,684
—IIESE(2,2)
20,0002 %2 * 122 480
— ARl R
16,6623 *150%* 15 Al 2t 1512 4,499
—oXRIRIEY
133,206 x1H x 15 2,000
—Z Mg Al 140,000 x1H* 123 1,680
—wWSEAH| 100,000 x1F + 122 1,200
[2Z| 225,408 229,776 A4,368
J|=2Z| 225,408 229,776 A4,368
201 Ler23H| 102,948 100,5% 2,352
01 AtR2elt] 45,408 43,056 2,352
O=AEX 7
20,0003 *282t A% 12F 6,720
OSZ201Alt| 9, 000@ ¥7A1 28« 12& 21,168
Ogiteg 100,000« 12& 1,200
OAAE T 50,0002 12& 600
OAFE b 12,360
—SADI(THE) =2
1,000,000 *3CH 3,000
—ZElHo| =2l
100, 0002 *4CH x50/ 100 200
—SAMI| EYH 200,000& *53*3CH 3,000
—ZEIEH(E%) EY
200,000 53| *4CH 4,000
—Z2H(Zd) Ed
200,000 *53*1CH 1,000
—PC =2l 100,000& *28CH*20/100 560
—J|Et ==2lbl 50,0002 x12& 600
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3. A2 3HI(2AAMNR =) (IIEHIIEH
Chel: J1=2 &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OJIEL At 2t
10,0003 x28Z«12& 3,360
02 S3=gHl 57,540 57,540 0
O2ANES RER= 120,000& * 122 1,440
Odales 2,880
—2BtM g} 70,000 =20 =122 1,680
—sUdzt 100,000 1CH* 122 1,200
o3 3,000,000& *12& 36,000
OREYS MEE 10,0002 +601~ 123 720
ORLggs MEZ 20,000 =20 =122 480
OYFE HHEAURC 2l AE=
15,000& ~12& 180
0228 HHEHC AHE=
60,0002 x22CH* 122 15,840
202 04| 104,160 110,880 N6,720
01 =LHOHI 104,160 110,880 26,720
OZ L0 20,0003 x28H 122« 12 80,640
o220l 120,000 x28E 7 23,520
203 HR=AH] 10,500 10,500
01 D[22 HRFa| 3,300 3,300
O2ANE=E JA2HE =AY
3,300,000& %1 3,300
02 32 JRHH 2= 2,400 2,400 0
OFAINIE RS 80,000& 30 2,400
M FA2HLRFAI 4,800 4,800 0
ORNSgER=aHI
400,000& 123 4,800
204 AR AH| 7,800 7,800
01 AR 7,800 7,800
OXMIARLHAY| 7,800
—2AME=E 400,000« 1H =122 4,800
— 22 (53) 100,000 x2& * 12 2,400
— N2 (62) 50,0002 x 18 » 122 600




